FALAKATA COLLEGE
Test Examination - 2017-18 Time : 2 Hrs.

Class : BA Subject : Economics F.M.: 50
Papar : 1+ I+ 10 Part-1
Group - A
Answerany five questions: Tx5=10

3)

6.

7.

a) Define Geffen goods.
b) Draw an average fixed costcurve.
¢) What is marginal rate of substitution ?
d) What will be the value of multiplier if the valueof MPC =17
) Whatis meant by ‘'depreciation’ ?
f) What is mean by Velocity of Circulation of moncy ?
g) What are the main objectivesof [IRDP?
h) What isthe full form of MGNREGS ?
Group - B
Answer any two questions : 10n2=20
Explain the process of attaining Consumer's equilibrium with
the help of IC and Budget line.
a) Whatisbudgetline ?
b) How is it constructed 7
c) Whyisitcalledpriceline 7
Explain Critically Fisher's Version of the quantity Theory of
MOney.
Wirite a brief note on the role of cooperative credit institution in
India in over coming the problem of rural credit.

Group-C
Answerany one question : 20x1=20
Discuss and illustrate the following with the help of the IC.
a) Income effect.
b) Substitution effect.
¢) Pricecflect.

Explain critically the classical theory of income and
cmployment.
Discuss the nature of dualism in Indian Economy.
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FALAKATA COLLEGE
X Test Examination - 2017-18 Time: 2 Hms.
Class : BA Subject : Econormics E M. 50
Paper : IV4V4V] Pari -TI
Group - A
1. Answerany five questions - 2%5=10

ol od

2) Define normal profit.
b}ﬁﬁmisﬂlem:}fdemandmmderp:rfml
competition 7

¢) What is meant by differentiated product 7
d) Define i
¢} Whatistermsoftrade ?
f) WhatisJiquidity trap?
£) Mention two major aims of WTO.
h). Give some examples of indirect taxes in India.
Group - B
Answerany two questions: 10x2=20
Critically discuss the marginal productivity theory of
Discumth::hamcterisﬁmﬂfmumpnlisﬁcmmpeﬁﬁun
Wiisupmmkﬂupemﬁun?ﬂiﬂmhuwmeditcrmﬂmis
cmnﬁuiwiﬂ]mehelpufupmmaﬂ:mnpmﬁnn_
Wlmtmcia]s:annit;rmaaamlmvchcenadwtadﬁ}rhﬂusuﬂ
workersinIndia?

; Group - C

Answerany one question : 20m1=20
a}ﬁ-’ll&tmﬂmdmraﬂerisﬁmnfapetfmﬂymmpeﬁ&m
market.

b} Graphically explain the short ran equilibrium ofs fismunder
Ehuwhﬂwnquiﬁhimml:ﬂfimﬂrmisdﬂmnimﬂmﬁqud}w
preference theory.
_Iliscu_ssh:ieﬂy&eaﬂhi:vemmtsmdf&ilmﬁﬂfﬁva}ﬂrplans
m
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FATAKATA COLLEGE
Test Examination - 2017-18 Time: 2 His.

Class : BA Subject : Economics F. M.:50
Paper : Part - TIT

b) What is labour - intensive technique of production 7
Ho-RiEs e ErE 2
¢} 'What do youmean by "big push theory" ?
TR O T R
d) Distinguish between variable and Attribute.
O 9 & W0 TS S
¢) ShowthatE(xi-x)=0
e I Z(x-x)=0
f) Findthe median ofthe following data. 22,7, 14,10, 18
R sRePr pom PfE s 22,7,14.10,18
Group-B
Answer any two question : 10x2=20
What do you mean by 'capital formation’ 7 What are the major
obstacles for capital formation in the under developed

couniries 7 3+7
5 TS T TR ¢ ST rrers wemam T
IR R

What is low-level equilibrium trop 7 Explain graphically. 2+8
o-eRemy WA ¥ 7 B arm

Calculate the arithmetic mean (AM) of the following date. 10
Dailywage(Rs.) = 35-45 45-35 55-65

Nooflabours . = 12 25 30
Daily wages(Rs.):  65-T35 75-85 85-05
No of labours . 18 10 L
s A T AT AT By =

faizade - L :0 3545 45-55 . 55-65
e R e 25 30
i : 65-75 75-85 8595
i - 18 10 4




5, Define histogram construct a histogram from the data give Fiorn e Frewrr efwm o P

below 5 248 W) : 10-19 2029 30-39 40-49
ﬁ’msgﬂ!(lﬂkﬁl : 30-49 i e At 32 42 40 56
oofstudents 59 70-79 89
Weigha(nkg) : 7079 8049 ERT o gﬂ £ 4 L
Noofstudents = 7 9 ﬂ} Ex plau.n pesofo
Wmmm|ﬁﬂmmﬁwmwm g % : 33
FE
b mebah'lcssthan & mmdmn types of from the
wo (@) 4049 50-59  60-69 }f'ollumngdate -y +7
gawag o0 3 10 22 Mid-value: 18 25 32 39 46 53 60
e (&) 0 7079 80-89 Frequency: 10 15 32 42 26 72 9
wawan ;7 8 o) S R S TG R, G TG SIS o1 S
Giroup - C 20x1=20 sgfdy : 18 25 32 39 46 53 60
6. Discuss the role of the IMF and the world Bank in economic st : 10 15 32 42 26 72 ©
development of the LDCs, 10410
oS afEm SR Bt a4 @ iy e R 3R
= |
7. Explain the complementary tole of agriculture and industry in
mmmmdwelupmn 10410
iAo T gt @ it AR SR S 99 |
g Define: 2 xd
a) i)  Standard deviation(SD)
ii) Median |

iiiy  Coefficient of variation

iv)  Quartile deviation,

TR WIS §

) oA

o) W

o) I

q)  vgdT A

b) Calculate 5D from the following frequency distribution. 10
Agelyear):  10-19 2020 3039 40-49
Frequency: 32 42 40 i
Age(year): 5059 60-69 70-79 8089
Frequency: 20 [ S 3
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